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Question 2

Mandatory technical criteria (M1), the bidder have a minimum of five years
clinical experience working full time as an RRT in the last ten years or an
equivalent number of hours in part-time work as a RRT in the last ten years. Am |
correct in understanding that as a full time employee, working 40 hours/week x 52
wks/year=2080 hours/year. 2080 x 5 years=10,400 hours. If part-time
hours=10,400 within the last 10 years, would this meet the criteria? | would have
worked a total of 10,816 hours in the last 10 years, which would exceed the 10,400
full time hours in 5 out of the last 10 years.

These hours come from 2 different companies that | worked for, so would not
exceed the 2 resources they mention. I’m still not sure though, about the wording
“Each of the resources must have a minimum of five years clinical experience
working full time in the last ten years”?

Answer 2

One year of full-time work hours is calculated as follows: (5 days per week x 52
weeks per year) (minus 10 days statuary holiday) (minus 15 days’ vacation) = 235
days @ 7.5 hours = 1,762.50 hours

Five years of full time work = 1762.50 x 5 = 8,812.50 hours.

Therefore, an individual who has worked 10,816 hours in the last 10 years, would
meet the M1 criteria, as 10,816 is more than 8,8125.50

Le travail a temps plein est calculé comme suit: (5 jours par semaine X 52 semaines
par année) (moins 10 jours de vacances statutaires) (moins 15 jours de vacances) =
235 jours a 7,5 heures = 1 762,50 heures

Cing ans de travail a temps plein =1762,50 x 5 = 8 812,50 heures.

Par conséquent, un individu qui a travaillé 10,816 heures au cours des 10 derniéeres
années, répondrait aux criteres M1, puisque 10 816 est superieur a 8 8125,50.



